Additional Crashing Problem

A different version of the software product (from last week’s problems) is also being considered.  The activities necessary for the completion of this are listed in the table below.

	Activity
	Normal Time
	Crash Time
	Normal Cost
	Crash Cost/wk
	Immediate

Predecessor

	
	
	
	
	
	

	A
	4
	3
	2,000
	400
	-

	B
	5
	3
	2,200
	300
	A

	C
	3
	3
	500
	-----
	-

	D
	8
	4
	2,400
	50
	A

	E
	6
	3
	900
	150
	B

	F
	3
	2
	3,000
	600
	C

	G
	4
	2
	1,700
	700
	D,E


Indirect costs = $450/week

Penalty = $100/week after week 12 (penalty is in effect at week 13)

Bonus (one time) = $2500 at week 8

(a) 
What is the expected completion time for the project?

(b)
What is the critical path?

(c)
What is the critical path after crashing?

(d)
What is the optimal time for the project?

(e)
What is the total cost of the project after crashing?

